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Q 1-15 Fill in the blanks with suitable word given af the

Time Allowed: 45 Minutes
Negative Marking: Yes

If you work at a business where managers frg
you _ Ql__ your company a fortune in t
probably don't know about. The technology I 2

neet on a regular basis,
h logy that you

Companies are spending Q3 sending manage

executives and also other managers. This is an eX
consider the out of pocket cos
of those meetings as well.
waiting in lines for ren
on business matters the

et as part of their
__ internet while

need to Q15 emergency meeting to
hat opportunity without having to book a

A) should save
B) have to save
C) could save
D) areto save

Q2

A) with using
B) by using
C) for using
D} and using

Q3
A) aransom
B) a fortune
C) a lifetime
D) an eternity

(go on to the next page)
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Q12

A) wasn't able
B) hasn’t able
C) can’t able
D) won’t able

Q13
A) because
B) according
C) however
D) therefore

uld have helped him out.

A) be looking into
B) be looking at

C) be looking after
D) be looking over

Q18 In the late 1970s ard early 1980’s, the United States developed the reusable space shuitle
1o space cheaper and easier.

A) to make access

B) and making access

C) which made accessible
D) and made acc2ssible
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A) are than any other animal
B) than is any other animal
C) any other animal is

D) and any other animal is

more thar 65,000 described species of protozoaiof's
A) Being that there are

B) There being
C) Are there

Q20

available the riches of the soil for

Q24 to the united stares House of Repre sentatives in 1791, Nathaniel Macon remained in office until
1815.
A) Election
B) Why he was elected
C) Elected
D) Who was elected

Q25 The universe is estimated __ between 10 billion and 20 billion years old.
A) being
B} tobe

C) which is
D) is

(go on to the next page)
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Q 26-35 Select the best option

26 The long dark days and lack of a job made him feel

A) alarmed
B) excited

C) depressed
D) dissatisfied

Q27 In Sweden, public

D) volubl‘e

Q30 The aim of the American Civil War was t the slaves.
A) validate
B) inaugurate

C) emancipate
D) liquidate

Q31 The youths came insolently into the room.

A) dragging
B) slqu?hing-
C) driving
D) twiddling
Q32 The judge imposed a light sentence in view of the circumstances.

A) unfair

B) extensive
C) extenuating
D) qualifying

(go on to the next page)



6 www.sheir.org

ot ONDING LETTER
PART I - ENGLI&EH M.C.O'S

Q33 Five readers the correct solution to our recentic

A) communicated
B) qualified

C) submitted

D) subscribed

Q34 Many local authorities realize there is a need to s
housing programmes.

A) assistance
B) conditions
C) admittance
D) provision

f soil by water and wmd, h_ut rather as the

mmdetmnraiwu,wem : ﬁfﬂutotal:uwmnmenthasbeenduepnmarﬂyw
This haslﬂdtodetetmmuon ufthe mmrochmnte above
‘and below the surface, geners
10 erosive action af winli and ra ensity or frequeney, and to the loss of organic matter in
'enbyconservmgthcwntm:thatfaﬂsonmesurfaoe If
ewn'thmg possible is done w:thmthe fotal environment to conserve the naturally planted or cultivated
vegetation, this will also ensure optimal conservation of soil and water.

Q36 It is argued in the passage that the impoverishment of the world's habitat .......... .

A) is first and foremost due to man's irresponsible abuse of the vegetable cover of the earth
B) is largely due to gradual changes in climate over long years

C) became inevitable as soon as agricultural and animal husbandry developed

D) cannot be reraedied

Q37 The definition of erosion gwen in this passage ............ .
A) is a strictly regional one
B) disregards man's role in it

€) concenirates on flooding
D) isa broad onz

(go on to the next page)
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‘ALL ANSWERS MUST BE ON THE COMPUTE ANSWER SHEET

PART I - ENGLISGH M.C.O'S

Q38 It is pointed out in the passage that the loss of organ

e in the 501l e -

A) led to the destruction of the world's vegetat
B} is a direct result of insufficient rain
C) is an irreversible process
D) has made the soil more susceptiblé to erosion

There was in increase of about 10% in the inve
quarrying, public services and transport; even
from the other sectors mentioned. A 16-17%
investment in business premmes i

irrigation
d away

rable goods demonstrated the
cased purchase of automobiles

jeing approached for items like the

a55a Q¢ ple of the country were

Q40 According to the author the tr s a rapid rise in consumption is "undesirable" as:
A) here was an increase in the expenditure on frills and luxuries

B) the people were affluent

C) there was a rise in the standard of living

D) people were saving less

Q41 The area, which saw the greatest expenditure of investment funds was

A) The public sector

B) Business premises

C) Housing corstruction

D) A field which cannot be determined

The Food and Drug Administration has formulated certain severe restrictions regarding the use of
antibjotics, which are used to promote the health and growth of meat animals. Though the different types
of medicines mixed with the fodder of the animals kills many microorganisms, it also encourages the
appearance of bacterial strains, which are resistant to anti-infective drugs.

(go on to the next page)
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ALL ANSWERS MUS B N ON THE COMPUTERIZED ANSWER SHEET
BY ING THE CORRESPONDIN
PART 1 - ENGLISGH M.C

It has already been observed that penicillin and the tetrag
they once used to be. This resistance to drugs is
plasmids, which are transferable between different es5e
the two kinds of vehiclzs on which molecular nrmmg gene transplant
experiments. Existing guidelines also forbid genes for resistance to
-antibiotics, in the laboratories. Though congy
need to be toughened w th reference to scienti sional attention
is being paid to an ill advised agricultural practic

Q42 In the present passage, the author's primary concer

elieves that those who favor the stiffening of
restrictions on gene tramplanr gically also.
A) Approve and aid experiments with any plasmids except those, which bear genes for antibiotic
resistance.
B) Inquire regarding the addition of anti-infective drugs to livestock feeds
C) Oppose the using of penicillin and tetracyclines in order 10 kill microorganisms
D) Agree to the development of meatier live-stock through the use of antibiotics

(Stop. Do not turn this page. Wait for the invigilator’s signal.)
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ALL ANSW 3E GIVEN ON THE COMP IZE ER SHEET
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PART Il - Mathematics M.C.Q'S

Number of Questions: 50 “Time Allowed: 75 Minutes

Questions on Page Numbers: 9 To 13 Negative Marking: Yes

46. Atriangle is formed by the x-axis, the y-axl
the cone generated by rotating this triangle 3

() 5 B Ie  (@n

b, then what is the volume of

1 _
47. Ifesc @ ve thentan 8 =

at
(A) Vi-ac? (B)

48, Which of the follow

-axis, then what are the coordinates

55. The distance between the points (=3

_ . 5) and (3, 12) is
(a) 511  (B) 3/13

(€) 6V13 (D) 5V13
56. What is the slope >f the line given by 2y + 3 = % (3x—-7)?

15 15 8

(A= ()3 © 5 ) 5

57. If x mod y is the remainder when x is divided by v, then (57 mod 6) — (5 mod 4) =
(8) 3 () 2 (€) 4 (D) 5

58, 2x—2y|+ 12y —2xl=___ .
(A) O (B) 2lx—yl (C) y—x (D) 4lx —y|

59. Ify = Vx + ﬁ then which of the following statements must be true?

L x=0 . x¥-=5 . x#5
(A) Lonly {E) 1l only (C) 1and lonly (D) 1l and il anly

(2o on to the next page)
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— . theother side. |
{A) one-thirdof (B} triple () dolb

B2, Ifi2=-=1 then ‘-ﬁﬂ
% 10
(A} 0.1 (8:0 © =1

B3. At least one of the followin
(A) x—dy=-1

s of the triangle ABC are

B0 (1027 £ 6 B Dr6<y <0}

2, 3) and (5, 3) then the area of the triangleis
(D) 3v3/9

(A) {(y:0<y <36

67. If two vertices of an equilateral tr
() 4/3/9  (BI9V3/4

68. The equation of the straight line join
givenby ___. ._ |

ng the points of intersections of x* + y? = 12 and y* = 4xis

69. If a function is defined as f(x) = [_x;fg £ j?:,'.xxiﬂot'hen F—=fen=__ .

(A) 5 8 5 (c)—1 D) 4

(go on to the next page)
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ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CﬂGSﬁl G THE CBRRESPGNDING LETTE

70. In the figure above K mpresents the set of all poin
that lies above the line 4583
(A} 12 (E)

7L f() =2

B ) =

lx+ 2|

rough the point (-4, 12) has x-intercept
(D) (-12,0)

76. In order that theiystem of equations - X — ¥ = ¢ has only one solution

(A azé © a=h (D) b= c
a=ai| _
7. [l = : _
(A) 10 () 0.5 (D) -5
= ‘l_:_:";'? . -

78. In the figure above the radius of the circle is 42 and square ABCD is inscribied in it. The area of the
shaded region is ‘
T L 1 i 1 Eid 1
(A) s +1 (B) 5+35 €33 0)3+3

(g0 on to the next page)
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ANSWERS MUST BE IEND COmP D AN SHEET
Y CROSSING m-:s NDIN LE'I'I‘EH

79. sec (tan~1(1))
w2 @2

]
80 mpen e

(A} 0.5 (8) -1/2

81. A ball thrown vertically upwards reaches a maximur
any air friction it comes down vertically and boung
height attained. The height attai ed bv the ball afte

mple f(2.34) = 2). The graph shown in

e [. € above for.x € "y ety pet

84. Given that f(x) ==, then, el
(&) 2 —3x+2 8 (C) (2x—2.5)* (D) x* —3x+9
#5. The sum of the lengths of the samin

sal nd the semi major axis of an ellipse is five less than the their
pmduct If their product is 12

he equation of the elim&e s

z 2
A} - —==1 {E} 1 {C) +—,.1 {D};—m—l
86. The straight line perpendicular to the line 2x =5y = 151s .
(A) 2x + 5y =15 (B} 5x —5y =5 (C) sx+2y =2 D)5z —2y =15

87. The circle (x + 1)% + (y — 4)* = 26 intersects the y-axis at
(A} (2, O}and (-1,0) (B} (9, O}and (0,-1) (C) (0,9)and (-1, U:l (D) (0,9} and (0, -1)

88. A right angled trizngle has one of its acute angles equal to 30°. The volume of the cone generated by
revolving the triangle about the side opposite to 30" angle is A; and the volume of the cone generated by
the revolving the triangle about the side adjacent to 30° angle is A, Then Aj:A; =

r : w43 1
(A) 2= (8) V3 k- (b) =
89. A colony of bacteria has an initial population of 1.56 million that doubles in every 7 days. In 23 days the

population should exceed -
(A) 12.5 million {B) 25 million {C) 24.5 million {D) 20 miilion

(go on to the next page)



1 3 www.sheir.org

ALL - EN ON THE C ED AN SHE

90. The Airport Taxi service charges Rs 300 plus Rs 10 for every he
travelled k kilometers and had to pay Rs ___
(A) 300+10k (B) 300+5k (C) 300 + 20k

akilometer travelled, A passenger

91. One of the following points lies outside the y+4)" = 25,

':"M _{01 0] tB] -1, _'1:| {C) [2:

92. Ift = logy(n™) then
(A) n=m (B) m=0

93, |f.-1=|'_11~ %]the AP =

® [ g]
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